R34 5 s
¥AK: 7N IWIET B
YXEBRAZL RN -K2- T3
¥ THEET S

BTy —- 1150
BHEt100

T E X

3,000

7-Fhn- 50x5.5 7-F H0x12.3 Nz Z 21.4x 355 BRI -F %y 7T
e /1.5x84
| |
A /1x 44
21157.7x60.54
fmn - 50.25x6
ERIT t=1.8
Fn—K32— b
RIS AR Y h—h -+
BIQMNT 77V v A YR D =Kz -+
|
HE 58.5x49.8 Al 71X 66 B —F—%vvyv 7
1,050 2,335 2,335 710
6,430
AAREDY
6.430
1,050 4,670 710
0335 2,335
o | ¥ ¥ ¥ 5 5 5 5 1 1
= \ 0 N 0 0 0 T ] B TH \
\ [ [ [ [ [ [ [ \
—— a e
| 1 38.5%49.8 |
| | |
I \ \ :\
% it 83.6x 160 i 83.6x 160 2iE VP4 40
GN
D300x WA00x H200
VGL 0| G
§ 777 b FERL50 \\
_ i BA150 N ‘
e’ [ [ ] _ _ _ [ [ | _ _ _ _ [ ] _ _
S | s D80OXW700x H550 ——
B 700

800
\\;%ij7j$%o
BEt100

KT [ X

|
| \
TiE: 83.6% 160
|
Wx
D300x W300x H200
YGL
§ 7A7 7 MEELS0
O BGt150
A [ \ _ _ _ _ _ _
< | % : DBOOXxW700x H550

Rxyy 7

nxe WARZEEFHA

EHTAERKRKBAFRIENL S 2
—REEL LT BEE521209)
—RBELBET RETAEHE (G14) 5022915

(—REET BRE2441408)
(RBERF—REBEL $70595)

&Xpo EXR
[ R E I B2 A 5]

T4

TMRAERI LA—FRBEES S VHIERATSE

(—RREET  BREEI6L974E)
FERE—REL L $59998)

A B

[BRMBIMRIREIC B DA IBBEE T 5]

H 4 iz R B®F A
FEAER A1:1/30
A3:1/60

X%

KA—024




26, 600

26, 600

o ™ o
(- S o
> L — ) = >»
- N -
= AN
O
S — S
S N o S
LO| L Ll Lo
AN
O o
(-
S IR eesseee—e—e———————  — ] ©
BE <
= . ST
© < = o
Te) To)
|| Y—
O
(- o
=) -3 =)
9., et = s I -l A N A B S - o T SO OJ.,
r~ r~
({e]
QO
¢IM 94 ¢IM 194 ¢IM 194 194 CIM 194 194  CIM CIM 194
_ g | J_+
| | | | | | | |
| | | | | | | |
o | | | | | | | | o
o o
S | | | | | | | | S
~ | | | | | | | | ~
| | | | | | | |
| | | | | | | |
<C
o | © | © o~ |~ |~ | © |
| L L L L L L L | <
Al A L P g P L |
r\ﬁ _ z\\ i _ o L z_\\ - = L - I _ il —\\‘u —\/\
D _mw < 0| . 4> \ . > . - Q> . | _)
+ < _ o o _ ’ % ) ) Ay , ) % ” _ O _\
O 1 [ I [ I [ [ 1 O
< _ | _ | _ | | _ <
5’ 1 A [ I [ I [ [ 1 RU’
oo © © ©
| | | e o e | w -
_< \ s s y KD ) - _ _—
15 A > - T - - S O
Al s h- o
|-|-|.\,.\L_,|-|:|-|-|-|-|-|- I 2 [ 2 T N N -|-|-|-|-|-|-|,J|¢M ..... _ 6,
N 1 . i o o h i o N D ©
dElE | | EjE i EjE | l S
| | | | | | | |
S _ | _ | _ | | _ S
O 1 [ I [ I [ [ 1 O
= | | | | | | | | =
_ | _ | _ | | _
1 A [ I [ I [ [ 1
|| © | < || < | < || < | < | < _
1 L | L i L | L i L | L | L 1 o
\\,_- Y ﬁ | TN \J ﬂ | TN \J ﬂ [ A ﬂ [ A \\_/FI—I
— e — |I|/1M |||||||||||||| / \\l.ll\ ||||||||||||||/‘“||_||\||||||||||||||.H|..| : ||||||||||||||H|L|..\ |||||||||||||| : \“l.lnx ||||||||||||||/1\|L|\\ |||||||||||| JE— _\ ||||||| JR—
; L_\ 7 f\ | o T | L f‘ | T T | L f\ | o f\ | = .,_f
| | | | | | | |
| | | | | | | |
| | | | | | | |
S | | | | | | | | S
g | | | | | | | | g
r~ r~
| | | | | | | |
| | | | | | | |
| | | | | | | |
| | | | | | | |
5 e | | | | | | |
ns ._J \ ./\\l_ \\/\ ./\\ \\/\ ./\‘ \\/\ ol Q\/\ ol Q\/\ ol \\/\ sl I—”\/\

ERRE

008 ‘G

008 'G

008 'G

008 'G

008 ‘G

008 'G

008 'G

009 07

B %

KS—001

TMRAERI LA—FRBEES S VHIERATSE

BREtH

R

A1:1/100
A3:1/200

AEE B - 1RERE

Y g

8

H =
L
=S i =% ut
& 2 zg& %
B £ (B4 S
wE 2 a¥ X
LN B
Wl T ES
Wi o 8 ®E o« &
R EL
le™ £ 18 B

wxar WARREREHRAN

EHTARKKEFTRIEN 182
—REEL LT @RE521209)

—RBELBET FEAFDERRGL)$F02215




1,900

5, 000

9, 800

W12

G3

26, 600
9, 800

1,900

9, 000

1,900

009 OF
008 'S » 008 'S » 008 'S » 008 'S » 008 'S » 008 'S » 008 'S
| | | | | |
| | | | | |
| | | | | |
_ _ _ _ _ _
S ool i i i i i i
S —
| 019
f
3
W
| K¢
f
3
|
||
f

A EACE

44|

119

44|

119

44|

119

¢ei 44|

119

008 ‘G

008 'G

008 'G

008 'G

008 ‘G

008 'G

008 'G

009 07

3 IR

0, 000 | 1,900

|

9, 800

18, 700

9, 000 | 1,900

26, 600

| 9, 800

1,900

KS—002

W
=4
m
&

8 8
fif =
H R
® p = <
R+
& |8
&

R

5

L.¢

iQ

@

=

iy

T X

(4 P

A =

T_ .

IR 20

._uﬁ N

Iie} =

£ &=

a8

Py f

H =4

g 5 23 &
& F =k I
g5 % &y %
A b%_m*.mxb
E_L.._m 41 B
W o f WE g B
R EL
le™ £ 18 B

wxar WARREREHRAN

EHTARKKEFTRIEN 182
—REEL LT @RE521209)

—RBELBET FEAFDERRGL)$F02215




9, 000

9, 000

18, 700
9, 000

1,900

9, 800

9, 000

|

9, 000

008 G » 008 G »
| |
| |
| |
| |
| |
| |
B | |
< _ _
11| i _
v | |
T | |
p | |
| |
............... e
| |
| |
| |
| |
. | |
............... D R S
i |
Bl | |
x | |
2 |
v | |
T | |
o 0 | |
- < | |
.............................. S
| |
| |
| |
| |
| |
||||1||||||||||||||||J|||||||||||||||||.||||||||||||||||||<||||||||||||||||JldHHHHHHHlJ||‘|‘|‘|‘|‘|‘|‘|‘|‘|‘|HMHM|?”HHHHHHH|FI|||
119 L 019 H
| |
< I < =
[ I, LB&E
n @l -
\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\ | A
\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\ e
[ f 9
3 | 3 I =
H [ H f R
n l
9 L !
e e e e e e e e
VEID T 219 i
f_ f f _
1 f
1 f
| l
LO f_ f f _
O [ f
——————— \.\|\.\|\.H|MH|MH|MH|MH|LL_%.H|H.H|H.H|H.H|H.H|H.H|H.H|H.LF_ ||||||
AT VEID 1T 219 i
|
| |
| |
| |
| |
| |
| |

9, 000 | 1,900

9, 800

18, 700

18, 700
5, 000

1,900

9, 800

¢eh 119 ¢eh 119 ¢ 119

¢ 119

¢19

9, 000 | 1,900

9, 800

18, 700

4 BRI

008 ‘G 008 'G 008 'S 008 'S 008 ‘G

008 'G

KS—003

n@
&
m
=
4
S 8
fif N
H T
® p = <
Rt
& |8
&
R
5
L.¢
i
)
2T 0m
< K
& =
_ o
K¢ 2T
pry
D =
T_ .
IR 20
K <
Iic =
£ =
a8
5 q
H X
L
-3 4o oD 4
Iz % Zg %
B £ (B4 S
o 8 e T
LN B
JFH s | 4FEg
Wi o 8 ®E o« &
R
le™ £ 18 B

nxer WARZEEFHAN

EHTARKKEFTRIEN 182
—REEL LT @RE521209)

&

—RBELBET FEAFDERRGL)$F02215




KS—004

B&

BHA

A1:1/100
A3:1/200

R

TMRAERI LA—FRBEES S VHIERATSE

AIEE YO - Y138 Y R

TH4

X5244140%)
kO EE
[mERARECRDS NSl | B 4
(—R%E+  BEW3619745)

AR —ERNE #5009

LA s

[RMRREBDSE L AT 5]

ORERH BRI L $57059%)

(—mgt

® #xex WREERFHN

FBHEREBPRIETL 82

—RRNLWHF  FIBRAIRRE (310) 02291 %

—BmEgL PP WRTE] 521208

=
>
000 71 dov
009°C | 006 | 00%°¢ 00€ € 005 € 009 € o_o_m_oom_
T T = ™ ™ = ™
o N o) < ™) N e
- & > > > > >
> > i i i i 11
| | | | | | I B
* i i i i i - >
| | | | | | R
| | | | | | 1
* i i i i i 1
| | | | | | 1
* i i i i i 1 s
| | | | | | |
e E— e ——— — — — A T —
| | | 3
| | 1
| | -
| | S| o
| | = ] S
| | S S S S 0de ~
| | “oole |
| | = |
| | B |
| | b
| if i >
o 7 \\\\\\\ 7\imur \\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\ I —— s 9 N
i i 5 | y 2
| | 0 Q i S
| | Lo N LO N LO LO S <
, , = | = S = S sl 00l | 2 -y Lo
| E: a
h - = U = b > S
S —— T%Wiiiiiiiiiii\iiiiiiiiiiiiﬁﬁﬁﬁu \\\\\\\\\\\\\\\\\\\\\\\\ | ©
| | ) S
| | |
| | — =
| | 3 3 p S b 8,
| | | -
| | .
| |
e L 8 |/ | — 1 | S -
i i f i i B ﬂ
| | | | | S |
i i i i i *
| | | | | 1
i i i i i =—| =
i i i i i i | >
i i i i i — =
| | | | | 3| 00k O
| | | | | S |
i i i i i =t
i i i i . 1
e, A S S R A N ¥ — I e
| | | | | | IR
| | | | | | 1
i i i i i i 1
| | | | | | 1
i i i i i i 1
i i i i i i 1
i i i i i i 1
i i i i i i 1.
| | | | | | 1 =
L o e e ——— —_— S
| 5 f f f aE 3
i * 1
| | ~ ]
| S ]
| | .
W | QN o~ o 7 47I m
| | Bl =2 8 = [8] S & =
| | oS8 1
i * st |
i * 3 1
i * ~ 3 S|
| | - |
»»»»»»»»»»»»»»»»»»»»»»»»»»»»»»»»»» e =T T —
| | | 3 n!n_
i * AR R PN A Y 5 |8 o =
| | N N sl & |7 - s
| | = El 12 1= H
| | : . | o
o s | e/ ] T T S e
| | = = > <
- E1[E %
| | | | = S
| | | osvz |o osve I8 & |- i &
| | o |o Il | L5
| | X N | P
i - f f i ,
e — R o ———— — —_— —— - y -
i * * = f
i * * i i i
i * * i i i
i * * i i i o
i * * i i Z i =
i * * i i i ~
i * * i i i
i * * i i i
i * * i i i
| | | | | |
I E R I R N Y — *
* * i * i n i
* * i * i i i
i i i * i i i
o | | | i i
= T | | | | Bl
g T & = 5 5 =
v_ v_ > v_ v_ v_ v_n
009°C 006 | 005°¢ 00€ € 005 € 009°€ 00
000 71 -
(45
>




|
S
>
000 71 doy
009°C | 006 ¢ 00€ € 00€ € 005 € 009 € QoEjoo
™ ™ 0 ™ ™ ™ ™
o N o) < ™ N — 1
| = | | | | 1.
| | > > > > >
> > i i i i I
| | | | | | 1IN
i i i i i i et >
| | | | | | 1
| | | | | | 1
i i i i i i 1
i i i i i i 1 1.
i i i i i i | e
i i i i i i i ..
e = IR Y S — — — T pIzIzzzzs
i i ,_
i i f
i i i
| | o |
o L = % 3
i | S & g S & ~
057
h h =
| | S
S
E gr—— L1 B S — === S :
= MVA. /MA | ) B3|
= 000¢ _ Wu Wv o o | Mm S
g T B = oei |g ol |E| & (2| & wm_ N i =
ooz | | & S 2 1= "
E=3 = = = 7 3 ™
s | B f , S
————————— e I R S T - —— —{ <
| | (N
i i - — _ =
| | S & H 3| oz6c 0gf & =
| | — |
- S E
| | =
S - 8 ) N > -
h * h % T 3
| | | | | I
| | | | | (N
| | | | | N
| | | | | i I S
| | | | | . g
| | | | | N a
| | | | | (N
| | | | | N
| | | | | |8
i i i i L L
e R R e e i
| | | | | | 1
| | | | | | 1
i i i i i i 1
i i i i i i 1
i i i i i i 1
i i i i i i 1
i i i i i i 1
| | | | | | 1 |e=
| | | | | |
S | N O - 9
| -3 1 , , , | CCoIIIIt3
- T ,_
| | 1
| | 1
| | ~ ~ ~ b S
| | S © = © = © = e 2
| | |
| | T 0g1T " 00€T 1
| | oA MA .-
| | 3 3 | ;
e SN § — — ) e L B [ EE— —  — - —
% ,
| %
X 5 | = = S
5 x: 5 S S & |8 T |8 = =
| e )
| N o
sl I ——— S | S
i i f .. <
| | |
| | I o
| | 3 3 3 3 = 3
i i I 5
i i 1~
i i -
i - f f o ..
\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\ - — y
i i i i i i
i i i i i i
i i i i i i
i i i i i 3 i o
i i i i i i =
i i i i i i ~
i i i i i i
i i i i i i
| | | | |
i i i i i f
I E R I R o Sal *
i i i i i 5 i
i i i i i i i
| | | | | |
J i i i i <t
= g | | | | i
= = = ™ o S =
wv_ w4 > w; w4 w; wén
009°C 006 ¢ 00€ € 00€ € 005 € 009 € 00
000 71 .L
S
>

B&

KS—005

TMRAERI LA—FRBEES S VHIERATSE

TH4

BHA

R

A1:1/100
A3:1/200

AIEE Y2 - Y33& U B

X5244140%)

KO EE

e AECRbS RN TE] (B 4
(—EMRT  BEWI1974T)

(RERH SR 570595)
AR —ERNE #5009

(—mgt

LA s

[RMRREBDSE L AT 5]

axer N BRXEESHAN

FBHEREBPRIETL 82

—BmEgL PP WRTE] 521208

—RRNLWHF  FIBRAIRRE (310) 02291 %




KS—006

B&

BHA

A1:1/100
A3:1/200

R

TMRAERI LA—FRBEES S VHIERATSE

AIEE Y4 - Y53& U EHHH R

TH4

X5244140%)
kO EE
[mERARECRDS NSl | B 4
(—R%E+  BEW3619745)

AR —ERNE #5009

LA s

[RMRREBDSE L AT 5]

ORERH BRI L $57059%)

(—mgt

axer N BRXEESHAN

FBHEREBPRIETL 82

—RRNLWHF  FIBRAIRRE (310) 02291 %

—BmEgL PP WRTE] 521208

—
S
>
000 71 dop
009 ¢ | 006 ¢ 00€ € 00€ € 005 € 009 € QoEfoo
™ ™ ™ ™ ™ ™ ™
[ N o) < ™) N — 1 |
x T | | | | 1.
| | > > > > >
> > | | | | .
| | | | | | T . >
| | | | | | 1
| | | | | | 1
| | | | | | 1
| | | | | | 1
| | | | | | 1 s
| | | | | | 1
| | | | | | | 3
e A s/ R - — — fsozzzzzs
| | — 3
| | £ £ |
| | I 1
| | S S B 1 o
| | = = N |- S
| | S S S =] I ~]
00S ¢ 00G ¢ 006 00w
| | o
i i WVA .\MVA—V WNVA =
| | L~ )
E S —_— R m— s n
| | 005 2 006 'Z | y H
M= o
| | o |- = S
| | 5 e 3 gl = |8 X -
- 5
O
| ﬂ R o
U S S T e — _ — ez O HR
| | WN E 3 K
| | = = |
| | < < < | 0c1e | 15 S
| | | S S S _ | 7m 0|
| | S = | -
| | = = =
| | |
e L 8 | — T T S -
| | | | | T 3
| | | | | 1
| | | | | 1
| | | | | 1
| | | | | S 1 S
| | | | | 1 g
| | | | | 1 a
| | | | | 1
| | | | | 1
| | | | | 1
| | | | | © 1.
e o R I A BN = N ¥ S I S
| | | | | | 1
| | | | | | 1
| | | | | | 1
| | | | | | 1
| | | | | | 1
| | | | | | 1
| | | | | | 1
| | | | | | 1 |2
| | | | | | |
R [ D -
| IR H , ¥ CCoIIIIt3
| | :
| | |
| | |
| | L S
| | S o ,
| | S S S = N ~
| | |
| | | ~
| | | -
| | 0€1e 0€1e 0€1e octe\|| [T y
e T3 5 p— — ] ] ——y Lt - —_— =
T 1 . B
= o
S 1LE LE E |51 % .
g o |4 2 B S5 5 oo 2 ey =
1| N o
S Sy——m—— —— ——— . IR s R 13
s || 8 E e | :
@ | — L o
| | < ~ |3 3 |2 S
i * d = = = | e
| | & S = | I
| | |
| - 1 3
\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\ T‘\‘\‘\,%\‘\C\‘bl\‘\‘\‘\‘\‘T‘\‘\‘\‘\Fm\‘\‘\‘\‘\‘\:1\‘\‘\1,&‘%‘ -
| | | | | |
| | | | | |
| | | | | L
| | | | | i o
* i * i i 5 I =
| | | | | | ™~
| | | | | |
| | | | | |
| | | | | |
| | | | | |
S N A S S Spd PP
S | | | | | = T
| | | | | | 1
| | | | | | et -
o o | | | | 1
&= & i i i i .
x x &= = & & -
g T IO I R I
009 ¢ 006 ¢ 00€ € 00€ € 005 € 009 € 00€ 006
000 71 _
S
>




7,900

0, 800

7,900

26, 600

009 ¢

006 ¢

00¢€ €

00¢€ €

00§ €

000 7!

7,900

0, 800

7,900

26, 600

B&

KS—007

TMRAERI LA—FRBEES S VHIERATSE

T¥4

BHA

R

A1:1/100
A3:1/200

AIEE Y6 - Y73& U EhHH R

X5244140%)
(SR — SR $5705953)

KO EE

(iRt

[IREMFAECRDSRSAATE] (B 4
(—mgt BEWR3619748)

AR —ERNE #5009

[RMRREBDSE L AT 5]

LA s

axer WRREFHN

EEHERKKEPRKIET L8 2
—BmEgL PP WRTE] 521208

—RRNLWHF  FIBRAIRRE (310) 02291 %




